Friday Problem Solving Challenge
Work your way through these challenges. How many can you complete? Be a YETI!
[image: Grey line]
Challenge 1
30 cakes are arranged in an array. Some of the cakes are hidden.
[image: Sixteen cupcakes and an unknown amount is hidden.]


How many cakes are hidden?
[image: Grey line]
[image: 10 x 2 = 5 x circle, 10 + 2 = 5 + triangle, 10 divided by 2 = 5 divided by square, 10 - 2 = heart - 5.]Challenge 2
Work out the missing numbers.
Think. Balance, like a scale.
[image: Grey line]
Challenge 3
Danni has these four digit cards.

Danni uses all four cards to make two 2-digit numbers.
She then adds the two numbers together.

[image: The cards from left to right are 2, 3, 4, 5.]What is the greatest total she can make?

[image: Two empty number cards add two empty number cards.]

Challenge 4
Sonny buys 2 pencils and 3 rulers. Each pencil costs 69p.
[image: Two pencils and three rulers.]Sonny pays with a £5 note and receives £1.07 change.



How much does a ruler cost?
[image: Grey line][image: Grey line]
[image: A small triangle has been separated from a quadrilateral. One angle in the triangle is labelled x and one angle in the quadrilateral is 125 degrees.]Challenge 5
Adam has an equilateral triangle.
He cuts a corner off the triangle.
Here are the two pieces.

What is the size of the angle marked x?
Remember: The angles on a straight line add up to 180 degrees. [image: Grey line]
Challenge 6
Here are two rectangles. The two rectangles are put on top of each other.
They are lined up so the black circles overlap.
The shaded area shows where the two rectangles overlap.

[bookmark: _GoBack][image: The rectangular area where two rectangles overlap is shaded yellow.][image: The left rectangle has a width of 8cm and length of 14cm, while the right rectangle has a width of 11 cm and length 5 cm.]What is the area of the non-shaded parts of the shape?
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